REVISIONS

PRO REV

DATE

ALTERATION

AUTH

0 8-6-2023

As per Client's Request

V1902

DETAIL V

DETAILT
SCALE 1:2 SCALE1:3

MO: Batch: Product Description: Reid&Twiname Platform Ladder 3 Step Pull Out, 130Kg SWL 0 8.6.0023 As per Client's Request V1902
Quantity Batch: Product Code: 001-005-0202NZ

Dwg Description: REVISION TABLE PRO REV. DATE ALTERATION AUTH.
Contract #: - B 3 - Linear | >0-3 | >3-6 | >6-30 |>30-120 |>120-400 >400-1000|>1000-2000 |>2000-4000 | >4000-8000 | Angle Tolerance
Contract Ref: Client: Reid&Twiname Client Code: TBA mmPp | :0.15| 202 | 05 | 08 £1.2 +2 +3 +4 +5
Approved By: Date: Client Dwg Ref: Client Rev: 0 Flatness| >0-10 >10-30 >30-100 | >100-300 | >300-1000 [>1000-3000 +1°

N ) 0.1 02 0.4 0.8 1.2 16

Received By: Date: Product Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007 NOTE. Al Gmomions e rored otreraree) W =13.61 (Kg) Sheet 1 of 8 P




List of Part

Part # Code Description Msa‘t)%réal Size Qty.| Unit | Total -
1.1 [901-040-0040-1 | 20 TO)mmT x 1230 x 2300 Hot SRS | 760x100.4x2mm | 1 | sheet [0.0244
1.2 [901-040-0040-1 | 20 1S)mm X 1230 x 2300 Hot SRS | 760x100.4x2mm | 1 | sheet [0.0244
1.3 [901-040-0040-1 | 20 19)mm X 1250 x 2300 Hot SRS | 330x68.4x2mm | 1 | sheet [0.0072
1.4 |901-040-0040-1 %“5‘6- it 1250 % 2500 Fo SERCS | 736x66.7x2mm | 2 | sheet [0.0314 !
1.5 [901-040-0040-1 | 20 19)mm] X 1250 x 2500 Hot SERCS | 305x4ox2mm | 3 [ sheet [0.0117 \ Q
16 [901-040-0062-4 | S+0.22)mm X 1500 x 3000 Hot SIS | 108x25x6mm | 1 | sheet |0.0006 .
1.7 [901-070-0015-2[3(+0570:2 e Steel Solid Round CTM3P§)5° 280mm 1| m [oz2s00 DETAIL F\ B
3mm dia Stainless Steel Solid Round . T
1.8 |903-000-0013-2| R e AT eSS Grade: 304 250mm 1| m ]oz2s00 SCALE 1:6 —
1.9 [903-055-0010-1 | I Ik x 400 x 1600 Spring S/Steel | Grage: 301 [ 120.81x50x1mm | 1 | Sheet [0.0094
1.10 |901-040-0062-4 g(glfé%zsammg x 1500 x 3000 Hot SS0 IS | 40x52.50x5mm | 2 | sheet |0.0009
111 [901-040-0050-1| 3 fhk 1250x2500 Hot Rolled Steel | SPHC IS 1 45,15x3mm | 1 | Sheet [0.0001
2.1 [901-040-0062-4 | 3(*/-0,25)mmT x T500 x 3000 Fot SSI00 TS | 749.3x40x5mm | 2 | sheet [0.0133
2.2 [901-070-0035-2| 105702 e Steel Solid Round CT,\ﬁ")'fo 310mm 1 |Length|0.0517
2.3A [901-040-0040-1 |20 19)mmT x 1250 x 2500 Hot SPHCAS | 271x121x2mm [ 1 | sheet[0.0105
2.3B |901-040-0040-1 §(+/‘°-139§mmg x 1250 x 2500 Hot SPRCS | 271x121x2mm | 1 [ sheet [0.0105
2.3C [901-040-0040-1| 20, 19)mm] x 1250 x 2500 Hot SPHCIS | 271x121x2mm | 1 | sheet [0.0105
2.4 |901-040-0050-1 gWéneti Kk 7250x2500 Hot Rolled Steel SPACS | 45.1xd0x3mm | 1 | sheet [0.0006
25 | 930-002-0030 #gnﬂrenngﬁ Plastic Solid Round Bar Cut U}(-Ivl\\lllr:/i\{ePE 16mm 2 M 10.0320
3.1 [901-040-0040-1| 270, 1)mmT X 1250 x 2500 Hot SPHC JIS 1764.4x70.4x2mm| 2 | sheet [0.0344
3.2 [901-040-0040-12L+°0,1)mm ] X 1250 x 2500 Hot S | 362x300x2mm | 1 | Sheet [0.0348
3.3 [901-040-0050-1 |30+ 0.21mml x 1250 2500 Hot Co® | 318x70.1x3mm | 1 | sheet [0.0071 DETAIL G
3.4 [901-040-0050-1 %(gn_eds mms X X o G311 47x25x3mm | 2 | Sheet |0.0008 SCALE 1:5
35 [901-040-0100-1| 12{-08)mm X 1500 x 2000 Hot SSIRIS | 38x12x12mm | 2 | Sheet [0.0003
List of Pack
AC4 | 914-046-0008 |Nyloc Nut M8 x P1.25 Steel 8.8 - T Pes | 1
AC5 | 914-046-0005 |Nyloc Nut M6 x P1 Steel 8.8 - 2 [ Pos | 2
Steel Flat Washer M6 x 6.5mmID x
AC6 | 914-094-0004 [ gD & Syt il STEEL - 1] Pes | 1
X mmL X . eX socket (allen
AC7 | 914-016-0018 [0 X G X T Steel 8.8 - 1] Pes | 1
12mm OD x 70mmL x 1.25mm dia
Acs | 915-083-0013 MM OD X 70 STEEL - 1] Pes | 1
AC16| 914-000-0208 |HEx Head Bolt M10x 25mmlL xP1.5- 1 gyee); g g - 6| Pes | 6
AC17| 914-046-0010 |Steel Nyloc Nut M10 x P1.5 Steel 8.8 - 6 | Pos | 6
Steel Flat Washer M10 x 10.5mmID x
AC18| 914-094-0051 | Sleet Flal Washer M10x 1050 Steel 8.8 - 12| Pes | 12
AC19| 914-010-0070 |Carriage Bolt M6 x 16mmL x P 1 Steel: 4.6 16mm 1 Pcs 1
\_ -
DETAIL E =
SCALE1:6
MO: . Product Description: Reid&Twiname Platform Ladder 3 Step Pull Out, 130Kg SWL _—
Batch: 0 8-6-2023 As per Client's Request V1902
Quantity Batch: Product Code: 001-005-0202NZ
Contract # Dwg Description: ASSEMBLY 1 OF 7 PRO REV. DATE ALTERATION AUTH.
ontract #. - - - - Linear | >0-3 | >3-6 | >6-30 |>30-120 |>120-400| >400-1000|>1000-2000 >2000-4000 | >4000-8000 | Angle Tolerance
Client: Reid&Twiname Client Code: TBA
Contract Ref: mmPp | :0.15| 202 | 05 | 208 £1.2 +2 +3 +4 +5
Client Dwg Ref: Client Rev: 0 Flatness| >0-10 >10-30 >30-100 | >100-300 | >300-1000 |>1000-3000 +1°
Approved By: Date: 30-100 | >100-300 +
i . Product Finish [ 0.1 0.2 0.4 08 1.2 16
; . . roduct Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007 -
Received By. Date: P NOTE: All dimensions in mm (unless noted otherwise) W =13.61 (Kg) Sheet 2 of 8 '@B‘I ;Irrosfegr\‘g:\e




(765.6)

[s¢] o w0
S 3 8
-
0
o|
=
. . Product Description: Reid&Twiname Platform Ladder 3 Step Pull Out, 130Kg SWL _—
MO: Batch: 001005020202 0 8-6-2023 As per Client's Request V1902
- roduct Code: -005-
Quantity Batch:
) Dwg Description: ASSEMBLY 2 OF 7 PRO REV. DATE ALTERATION AUTH.
Contract #: - - - - Linear | >0-3 |>3-6 |>6-30 |>30-120 [>120-400 | >400-1000|>1000-2000 |>2000-4000 | >4000-8000 | Angle Tolerance
Client: Reid&Twiname Client Code: TBA
Contract Ref: mmPp | :0.15| 202 | 05 | 208 +1.2 12 +3 +4 +5
Client Dwg Ref: Client Rev: 0 ; - R - R - +1°
Approved By: Date: g Flatness >0-10 >10-30 >30-100 | >100-300 | >300-1000 |>1000-3000 +1
b Finish —-—) 0.1 02 04 0.8 1.2 1.6
Received By: Date: roduct Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007 NOTE: Al dmonsions i mm (unfess noted ofhermise) W =13.61 (Kg) Sheet 3 of 8 _@_B_I FrstAngle




760

10 736 \
70
66.5 TYP>_5|—7\ e 25
g a8 - T
OO OO OO dCoom O O QG 9 -——4—@3
— _-._ o S S e ____________________ o
I N\
<
) | ——<TYP TYP g 2 ¥—5[7—<TYP
| e — -
0 | 31740 3740
& l
|
| 40
|
[ HH
™ O W
958 L—e- H
| (18T
|
: ———<TYP
b 3740 TvP —
| >——
| 765 | ,20 300 20 31740 v — TYP
35 517
0 |
S _ 3
I| [ 4 |_\.__| ' 0
S —— [
&’_‘DDDDDDC} OO O OodOod e
11.8 30 15.5 \?GYP - 20
83
i.l___ Nl S TYP 2
— T )
5 2 i 1 I -
E=====g==fk======================—==f====================x==|== = = - 0
o
0 | 85 30 270 30 270 30 | 6
[ee] T T
71
. . Product Description: Reid&Twiname Platform Ladder 3 Step Pull Out, 130Kg SWL _—
MO: Batch: 001005020202 0 8-6-2023 As per Client's Request V1902
- roduct Code: -005-
Quantity Batch:
) Dwg Description: ASSEMBLY 3 OF 7 PRO REV. DATE ALTERATION AUTH.
Contract #: - - - - Linear | >0-3 | >3-6 | >6-30 |>30-120 [>120-400 | >400-1000 |>1000-2000 |>2000-4000 | >4000-8000 | Angle Tolerance
Client: Reid&Twiname Client Code: TBA
Contract Ref: mmPp | :0.15| 202 | 05 | 208 +1.2 12 +3 +4 +5
Client Dwg Ref: Client Rev: 0 ; - " - - - +1°
Approved By: Date: g Flatness >0-10 >10-30 >30-100 | >100-300 | >300-1000 |>1000-3000 +1
b Finish —-—) 0.1 02 04 0.8 1.2 1.6
Received By: Date: roduct Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007 NOTE: Al dmensions m mm (uniess noted otheriee) W = (Kg) Sheet 4 of 8 l e




49

230

N vie
|
/
/A\ﬂ\\d
| » P
=
OQ«
———
o
[5¢]
N
ﬂ\v“J_
[
. &@t
‘/
N
o
=~or

P37.5

293

749.3

®15

VIEW |
SCALE1:5

O 0O O O O O O [[]

2ECNHE 1 1BVHaILl

9l

weld 1/2 center,

B behind

D14

weld 1/2 center,

behind

5

28C

olLe

143

8 s
o || E 38
o =& B s
=2 =g T
g <| o
> > w
2
<
o
(=3
2 ©
o |9 —
S [3)
by 0
-
SERE:
o =3 =
|19«
—— ol || ]
g gl |8
2 N
Q S o
Zle
5] |8
» Eldle| T
T |<|E|%|8
@ (e @
= w LA
O e -
. 218 S —_
@ < 2|22 | D
Q o|ln|g|°|X
7] S - ~
< A A 1]
S S =
ol
ST 8|°
A A
o @
Tl E
o |2 @
RTg el
oo | o
o .m 2
2|2 2
) R|* 8
N w =
o Elo|a 2
S |3[%]%]e| |E
@ TS| e
© 2 e|e|o 2
A m
. £
AL s
Wl o 0] <
‘o c -
o =] i
ol.E © 5
|- [T z
o
~
o
o
-
-
<
o 2
H <
*n o
> n
X < a
(=3
o 1] K]
g 12| 2
o | ..
o T|s| ®
S o [0 o
o O |x £
[-% = | (2]
[ c c M
7] Q|9 H
™ oOlo =
o OO0 | 3
3 x
© [&]
3 o
g o
b= ~ N
K L w
o o ”
© o
m N | < K
g2 > n
=
5|9 |2 N
T I2I|E h
[7] [ ..
X|lo 0| °
= | |R o
c 1 p-q © S
S |a £ 1
alelc|3|.. -
=8 |F | c
Slosl2 |12 5
1) o Q. 04 K2
0|0 |E |8 || E
OO |le|z| i
|0 |43 |2 ©
5|35 | = =1
o |T | o m n_n., o
sle|f|L|L| ¢
oo |n0|lo|o o
= .. ..
om a|a
5
Tl..|e|d|a
o | #* (X
| = | = gl o
2|0l 9|0
S|leo|®| 2|2
c 5|52 |®
O ® c c [o% (6]
S|o|o|lala
= | |0 |0 |« | ¥




282

ECURE IN TRANSIT]

(206)

R&T ITES

6.5)

DETAIL Q
SCALE 1:25
DETAIL R
SCALE 1:25
MO: Batch: Product Description: Reid&Twiname Platform Ladder 3 Step Pull Out, 130Kg SWL 0 8.6.0023 As per Client's Request V1902
- Product Code: 001-005-0202NZ

Quantity Batch: roduct -ode

) Dwg Description: ASSEMBLY 5 OF 7 PRO REV. DATE ALTERATION AUTH.
Contract #: Client: Rold&Twi Client Code: TBA Linear | >0-3|>3-6 |>6-30 |>30-120 |>120-400|>400-1000|>1000-2000 |>2000-4000 | >4000-8000 | Angle Tolerance
Contract Ref: lent. Rel winame lent Lode: mmP | :015] 202 05 | :08 +1.2 12 +3 +4 +5
Approved By: Date: Client Dwg Ref: Client Rev: 0 Flatness| >0-10 >10-30 >30-100 | >100-300 | >300-1000 |>1000-3000 1

: i ,._ [— 0.1 0.2 04 08 12 16

Received By: Date: Product Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007 NOTE: Al Gmonsions i mm (unless noted otnaraioe) W= (Kg) Sheet 6 of 8 P




744

17

t] © J = =
I e Ees S R A s DA 1 !
% T i
] - f— Yo i
v o! o1 ' |
e 10 |
QO Q1 |
[1e) Il © |
o | i |
10 K@) |
0 | 30|
g e 8 19 10 9 ®
° e ° S i ° ”
1© 1©
o 1 o1 |
q o _lo |
X o i (oM |
P I i 1 o 1© 2 |
?_\ 0 T—©5—0 & :
————H0—— )
i 1 |
l J === . ol [
N\ L T 9 1
| ! I !
| 445_| 40 25 30 12211 4 2
300
20 110

22
13.3
J;
3

43

DETAIL J
SCALE1:1

DETAIL U
SCALE 1:2

MO: Batch: Product Descrlptlon: Reid&Twiname Platform Ladder 3 Step Pull Out, 130Kg SWL 0 8-6-2023 As per Client's Request V1902
- Product Code: 001-005-0202NZ

Quantity Batch:

) Dwg Description: ASSEMBLY 6 OF 7 PRO REV. DATE ALTERATION AUTH.
Contract #: - 3 _ - Linear | >0-3 | >3-6 | >6-30 |>30-120 [>120-400 | >400-1000 |>1000-2000 |>2000-4000 | >4000-8000 | Angle Tolerance

Client: Reid&Twiname Client Code: TBA
Contract Ref: mmPp | :0.15| 202 | 05 | 208 +1.2 +2 +3 +4 +5
Approved By: Date: Client Dwg Ref: Client Rev: 0 Flatness| >0-10 >10-30 >30-100 | >100-300 | >300-1000 |>1000-3000 1
: i _._ [— 0.1 02 04 08 12 16

Received By: Date: Product Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007 NOTE: Al Gmonsions i mm (unless noted otnaraioe) W= (Kg) Sheet 7 of 8 P




powder coated Safety Yellow

powder coated Safety Yellow

MO: Batch: Product Description: Reid&Twiname Platform Ladder 3 Step Pull Out, 130Kg SWL 0 8.6.0023 As per Client's Request V1902
Quantity Batch: Product Code: 001-005-0202NZ

Dwg Description: ASSEMBLY 7 OF 7 PRO REV. DATE ALTERATION AUTH.
Contract #: - B - - Linear | >0-3 | >3-6 | >6-30 |>30-120 [>120-400 | >400-1000|>1000-2000 |>2000-4000 | >4000-8000 | Angle Tolerance
Contract Ref: Client: Reid&Twiname Client Code: TBA | 015|202 ] =05 | 208 12 > o ” 5
Approved By: Date: Client Dwg Ref: Client Rev: 0 Flatness| >0-10 >10-30 >30-100 | >100-300 | >300-1000 [>1000-3000 +1°

. - 0.1 0.2 0.4 0.8 1.2 16

Received By: Date: Product Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007 NOTE: Al Gmonsions i mm (unless noted otnaraioe) W =13.61 (Kg) Sheet 8 of 8 P




	REVISION TABLE
	Drawing View1
	Drawing View23
	Detail View T (1 : 2)
	Detail View V (1 : 3)

	ASSEMBLY 1 OF 7
	Drawing View2
	Detail View E (1 : 6)
	Detail View F (1 : 6)
	Detail View G (1 : 5)

	ASSEMBLY 2 OF 7
	Drawing View6
	Drawing View7
	Drawing View8

	ASSEMBLY 3 OF 7
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12

	ASSEMBLY 4 OF 7
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17

	ASSEMBLY 5 OF 7
	Drawing View26
	Drawing View30
	Detail View Q (1 : 2.5)
	Detail View R (1 : 2.5)

	ASSEMBLY 6 OF 7
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Detail View J (1 : 1)
	Detail View U (1 : 2)

	ASSEMBLY 7 OF 7
	Drawing View38


